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Q1 Now, one has 43goku 5to koji and one can exchange 1goku 3to for 1goku rice.
If one exchanges all the koji one has, how many goku rice can one get?

Al 33goku 4to 5syo rice.

S1 You divide all koji you have by 1seki 3to.

Q2 Now there’re 8500 straw bags which hold 3to5syo, and you want to carry
them by boat. It costs liter of 3hyo7bu straw when you carry 103hyo7bu straw
bags. How much do you have to pay at this time?

A2 333hyo and 9syo 7gou 5seki.

S2 You multiply the number of tawara by the fare.You divide it by 103hyo 7bu
and the fare is 303hyo 2786. You multiply the number less than tawara by
3to5sho and it is 9show7go5seki.

Q3 First of all, you have to pay silver 8bu 5ri to carry a wood that has the base
whose one side is 1syaku and 2kan in height. There is a wood whose base has the
same length 4 side of 6sun ,and whose height is 2kan. If you carry 180 the same
trees, how much do you have to pay?

A3 55monmea8rin

S3 The area of base is 36.You multiply this by the number of woods and multiply
it by the fare. (by Urabe&Enjozi)
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The answer of these question are obtained by using the ratio relation.
1. You have 435koji and it is 13kozi per 10rice, 10:13=X:435 so X-
334.61...
2. similarly, 3.7:100.7=X:8500 so X=312.31...
3. (The height is the same) 8,5:100=X:36*180 so x=550.8

(by Kimura Y)
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Higashi mawari kouro is course that connect Tohoku and Edo. In
1614, it happened Osaka no gin, so people transported cargo
and passenger to Edo from Sanriku coast.

This is the beginning of the Higas
people living in Akita transportec

ni mawari kouro. In 1655,
rice to Edo from Tosaki. It was

held of course which turn arounc
Nishimawari kouro is course that

Japan Sea and pacific ocean.
connected Osaka and Tokyo.

Shipping of Japan sea and Seto inland sea have existed since
more than about four hundreds years ago.

However in 1638,Tottori and kaga transported rice from Osaka.
Also in 1659, Murayama country of Annual contribution was
transported to Edo from Sakado port. (by Kubota)

Summary: These three questions are the questions that are solved by using a ratio.
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Future problems&Impressions: To advance this work efficiently, we have to decide each member’s roll of work at first.

We would learn the solution of edo period, edo culture and so on, through this class. We don’t usually have

opportunity to learn these things we learned this time, so we could try this work with fascination. And, we could feel

the importance of teamwork. If we have an opportunity like this in the future, we will work better with future

problems of this time.

(by Kimura Y)




